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Figure 11.3 A: The survival function  for patients in the placebo arm of the CLS1
trial. B: Cumulative mortality, calculated as , and a trapezoidal approxi-
mation of  based on 1-year intervals.

First consider a trial with 6 years’ accrual period and no additional follow-

up period, so  To simplify matters assume also that

there is no loss to follow-up, then all censoring is caused by patients being

alive at the end of the study, since the event is mortality from all causes. A

patient allocated to standard treatment at time t after study start will be fol-

lowed for at most  years. Let  denote the probability of

dying before the end of the study for this patient. From the Kaplan-Meier

estimate we obtain

To further simplify the problem, assume that the patients are included in

the study at a uniform rate during the accrual period. The average proba-

bility of dying during follow-up in the group of patients on standard treat-

ment can then be estimated as

The integral is nothing more than the area under the cumulative mortality

curve, and an adequate approximation can usually be obtained by select-

ing a small number of equidistant time points and computing the area by a
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